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1) The aumber of stalor teath n a vanable reluclance

stepper motor is 16 And. the number of roler lnelh s

1) vy afrmas frgwim w7 e i woer grat A1 Ana

16 afrr fre =omt §tomar B8 wirre g eaflm e &1 e

B Calculate tha stepping angle of the molor mh
A) 907 A) BO"
B) 45° H) 45°
C) 135 C) 135
D) 22.5° D) 225
éﬁ:md the difference of power consumed by a 100 W 2) 117 100 W T¥mt = =1 100 V 747 150 V77 T
light bulb at 100 V versus at 150 V. #t mk sifwprrany wt s Ay $ifEm
A) 100 W A) 100W
B) 169'W e B) 169W
C) 225W e C) 225W
D) 125W = D) 125W

3) Below slated are s0mo of lhe statements about Ihae

squirre| cage induction motor. You need lo idenlify

which of the following is incarrect.
1 Very poor speed control
2 Allhough they are energy-efiicient wh

load, Ihey need a lol of energy whila being started.
a lo voltage variabons.

fla at full

3. They aro more susceptibl
4 The induchion mator consumes mare currant when

supply vollage is reduced.
5. They are explosion proof as there are na
which eliminate the risks of sparking.

A)1,2&3
B) Only 5
C)2,3&5
D)4& S

brushes

E}FﬁﬂhmmﬁﬂTtﬂﬁﬁﬁmﬁim
w1 s & & o o e 3, T

1, gt v i e
z.mﬁiqﬁwtmn‘rntmﬂ-w{mﬁ
rﬂhﬁﬂf}ﬂiﬂ.vﬁﬁvﬂmmmﬂ
AT 77T R
J.ﬁﬁﬁW{ﬂéﬁW)iuﬁﬂﬁw
w717 8
4,mﬁﬂﬁ1ﬂﬁﬂmﬂﬁnﬁmmm
vofi i
E.ﬁﬁvm{wﬁnmﬁﬁﬁrﬁ?ﬂrﬁﬁinqﬂg
it s ¥ P w1 w

A)1,283

B) #9775

C)2,385

D)4&5
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4) A muttimeter is used 1o measure voltage, current. 4) ¥ wrdzT W1 TT AT, v 4, Fan,

- TT,"& =¥ ".—"I--FI-:- ;Fl"h-l- . " ¥
and resstance also  can be used lo lest the T ¥ BT W AT Shdiiil c1
s 3 r F,T":’T_-"T rj"—j" - - ey
Cﬂﬂhnuﬂ‘jbﬂrﬂenrﬂﬁpﬂmEman elactrical grout  FRgA § T TS (F=Fn a1 m AL T

What ars  ha advantages o umg 8 d;grtm ﬁ'ﬂmm?_lﬁf!?‘ﬂ o= "?-"-_'T':'T'l'rr,ri

rHUrb'."ne'.',ﬂrs'? TITH ??
A) Mumfl.rf'umrm_.r A) H:ﬁ_tﬂ'-"ﬁ:"'ﬂ (afrsaatady)
B) Expensive B) =T AT 2
C) Are large in size C)ysFmaazzr?
DIVDﬂagﬂnnlamycannmbadusrwed n;ﬁm[ﬂwﬁﬂ#ﬁrrm,
S) Which of the following =3 I

Oulput waveforms are better 5) % # & ' =1 sz 77w v = e (=
Compared o a square wave? Faamd sz 8 o
1. Quasi sine wave 1 h’qmw {
2. Puise Width Modulation s
3. Sine wave i - -.{ ‘

aEA 9T

4. Traingular wave

i A)1.2, 373

B) Only 2 and 3 31%2#3

C)Only 1and 3 O e

D)2 3 and 4 D23, 4

€) Filt rjmehhnk{slmmmem”m%n: T E]_F:'-T -

According (o IE rules, 1958, low voliage is wher fhe IEﬁ“‘:ﬁﬁ?ﬁ?ﬁﬁmﬁﬁﬁqr

voltage does not excead ' 1[555* T S iy g I I A
""‘"-qﬁ"r“ﬁﬁmm

A)G30V

B) 550 v Al esov

C) 250 V B) 550 v

D) 350 v C)2spy
D) 3sp v
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Tiin this method by IﬂJ'H'EI.II"Iﬂ vollags al slip TrEqUEI'I-L"_.I' 7) © FaSy # e wiE e & Fray YT T arerw TR

in the rotor circuil. the speed of an induction motor ¥ Tres W £ F1 a7 e f e e ¥
can be changed. Determine the methad mentioned T 7t Fifiy w7 Frefrer v

1
in the context, Al §rew Frdaw U’}j_-\'ﬁ?‘%‘i
A) Volage ca.cnnlrnl B) 71z gfier R '~ % ﬂf‘fi :i"!i
p) Rotor resislance control C) #re wfra drsen ey
C) Secondary foreign voltaga control D) wfr Frrem
D) Speed control
8) AR 8)

Tq‘.l—'-ﬁ'i’ s 1b£
i

CLRC
i
. L] ) - il e ‘-"" 5\
Consider the circuit given above and calculale the 3wt fm wm =fiz o faare wt & wffz & = (7rh)
power delivered by the source in the circult ooy £ wE o () e v
21t b
A) 123 W % A) 123 W
|
100 W
B) 100 W ¢ #g'TL” B)
C)231 W . \{E/ C) 21 W
D) 243 W xi‘"{ D)243W
1 ?

—

8) What will be the per unit leakage impedance of 8 9) 400 KVA F 1 ard mw grrwtde 0 0f g i
transformer with the rating of 400 kVA operated in =fit=y v EnfT, 31 200 kVA T e e

parallel with anothar Iransformer with the rating of 200 ZrreriT & e wamrre & FaTfae &t & , s P
kVA having 2pu as it's per unit leakage impedance?  2pu ¥ gz dew wfi= 47
A) 1 7f° e A1
B) 2 ’ﬁ B)2
3 g c)3
D)4 0)4
—

Page 5701 142
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10) A process that converts electric energy info heat
energy 1 known as electnc heating VWhat are some
essential requirements for a good heating element?
A High specific resistance, ~

B High malting paint, =

C. High mechanical strength, ¥

D Non-corrosive

A)A BandC
B)A.B.C.and D
C)A.C.and D
D)A B, and D

—
10) rrv e A Frger 5t 31 3T Tt @ oy g
wroft # pofery fifdn epard
ofitzn & fm  SE STt e
A 7y fafae afm,

B. TY mEAIY,

C. 7 wifrw mfey,

D. Araturrw (atraaifam

T B i

A)A Bt C
B)A.B.C. ¥ D
C)A.C, s D
D)A, B & D

11) Balow stated are the pPrmary applications of a
generator. You need Lo idantdy the generator

1.They are used for supplying field axcitation current
in DC Iocomatives for reganerative breaking

2.These types ol generators are used as hooslers ig
compensale Ihe voltage drop in the feedar in various
types of distribution systems such as railway servica,

A) Shunt Wound DC Generators
B) Separately Excited DC Generators
C) Compound Wound DC Generalors
D) Series Wound DC Generalors

-

1) #% wwrzr ¥y seqrinit F a @ w en b
mﬁ“‘“ﬁﬁﬂmﬁﬂmm&_

1. SANT T OC ety &, frivrefea aftn ¥ A
I reTTEI Sz 1 3ryf ¥ B P
ibehibihiead L LR T —
MEAAILE Gid 1 L § O O S N ———
wﬂhﬂﬁmhiﬁmmm

A) 92 3137 OC e

O) S R (frrrey ey DG e
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12) What is the difference between the Synchronous 12) Fermfars af (e wre) s T Tee wfA
speed and the actual rotor speed is commonly known 3 siere <5t e ey = W;nm ”
L ¥ H i - o

as? A) v o

A) Rotor torque B) #rer ¥

B) Rotor frequency S -
c) Armature Reaclion D) Fer

D) Slip

13) Name the motor which carries a single-phase 13) 77 wiTzr =7 79y Farzn Faes wwA-=em (R )
M\er_‘lding which is similar to the main winding "= am=fEn 7 & W (T =)
of a single-phase induclion motor thal carmries af=z#7 Wrzr §1 gy ansfEn ¥ wwm i 2 BEd
distributed DC type winding. ﬁqﬁﬁ(ﬁﬁ;ﬁﬁ?} DC zre ar=fEr 31 31

A) DC #rfr= wr=w

B) wfri (Frream) 5z

C) DC =7z wrzz

: F
|

A) DC series motor
B) Repulsion motor
C) DC shunt Motor

D} Compound motor D) #mTsT wET

14) Ultrasonic welding uses high frequency to heat up 14) 3=zt 32T sravas argen 71 ™f w23 & fA
the required metals. In which of the following cases, 3 3 ¥ 3mam Fof #1 FwfEfEm 7 7 f=
ultrasonic welding is not used? feafiat & s 3t a1 s w3 G s 2
A) Fabricating nuclear fuel elements y A) TTHTI S6A A= = R

B) Thermelic sealing of materials and devices ™ B) #zfrg=t 7 Tt §y afis it

C) Welding galvanized sheets C) afsdn 7=t arat (TeresT o)

D) Splicing metaliic foil D) FeTEfA FifAE wi

—

15) Calculate the EMF generated by a 6 pole. 1200 15) 6 T, 1_220_!'1‘11111 EE] “-l"nf' DC F=7Z7 3177 T
M wave wound DC generalor. The magnetic flux EMF 71 o F1F3T | 93 91 Terw e T 7 Wo,

r 37 150 FTFH £

Produced per pole is 7 WD andt:pgretge 150 # _
conductors. \9 NS A) 21V

A 21y ’1‘_")"?;3 * B) 21 KV

> / o
B)21 kv ’i .5503:/ C)42 KV
° 0 D)42V

C) a2 ky ", ﬁ/c- )

D)azy R
.B\"--__

S04
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16) Identify the incorract stataments from the given 16) st frma 1 ﬁ;:"r""" AR CITON
options regarding the characteristics of a magnetic ¥ 1 177 wAt a1

circuit.

A) Magnetomotive force is analogous to vollage
B) Flux is analogous to potential difference

C) Relectance is analogous to resistance

D) Permeanance is analogous to conductance

A) B a5 qET S (et g,

B) Trmr fwaiar (W fewry) .
(sraratmr) #1

C) frmwm, afftnr (¥t & stpen (st ,
D) refiriTe, S ¥ s (st

17) Which of the following theorem works only for

circuits  that  are

reducible o

series/parallel
combinations for each of the power sources at a lime
and it only works where the underlying equations are
linear (no mathematical powers or roots)?
A) Superposition

Theorem
B) Reprocity Theorem
C) Milliman's Theorem

D) Norton's Theorem

17) Brafafir it &t M m wit v T i
v Frar & At Feft e it awve afi s e e
A sifyarraT s i Ay b s
Tl W v g st mfteen S e
iﬁﬂ(ﬁfnﬁrﬁvmmrmﬂwﬂ}?

A) e wim

B) rifadt wimy

C) =i wy wirg

D) 7t w7 iy

18) Which of the following options give the

CORRECT abbreviation of FACTS?

A) Flexible Alternating Current Transmission
System

B) Full wave Alternaling Current Transmission
System

C) Flexible Alternating Circuit Transmission
System

D) Full wave Alternating CircuitTransmission
System

18) Frwfafirs it &t whr o ey FAGTS w7 Wkt 1
= et 7

A) BT st e gt e
B)T"hﬂﬁ?ﬁﬁqmmmm
C) Tt sesrmafim i g frew
D) T v sreifan wfbz srmfrer e
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19)Ina three-phase cage induction m e

voltage is applied la the stator windin;,l:}r:::;.:::: 1;?1:: u:n::r w“: w e WW&H wegsd
o start because the number of statar and ralor slots rﬂTﬁr FraT 3&711-—-!1:“:‘? ’W : ﬁr;:: :
are either equal or have an integral ratio. Delermine ™= ,jphﬂ {m} N k TI'E"F'I'T :L“:Tﬁ # F:rr
{\he phenomenon mentioned in the above cantext. WWTTE?WUTT ; A= 411

Coggi

A) Cogging A) FF

B) Crawling B) T
C) Resistance control C) #Frény P
D) Cascade arrangement D) 4t A l

20) A balanced delta connected load is connected ta 20) T e 2wy ez AIE 415V, 50 Hz smifA 7
2 415 V, 50 Hz supply. If the per phase impedance w1 afz A fraf iy e (84{12) 319 &, ATATS
of the load is (8+j12) ohm, then calculate the phase ¥ A iz AT AT THE AATAL, AT w7 AT T
e load. Also, find out the line current and war T AT g e A ead

A) 28.78 A, 49.85 A, 667244 W

current of th
the power cansumed by each phase.
A) 28.78 A; 49.85 A, 667244 W B) 24.45 A, 42.25 A, 5562.35 W
C) 21 A, 40.24 A, 4885 W

D) 30 A, 56 A, 6024 W

B) 24.45 A, 42.25 A, 5562.35 W
C)21 A, 40.24 A, 4885 W
D) 30 A, 56 A, 6024 W

ons systems are 21) et
hey are fed by Peankgele

mﬁﬁﬁmﬁ%aﬂ%%mwﬁmﬁ

21) How many types of DC distribui
P st (Fredrogare ez s &7

present solely based on the way 1 e
feeders? A)3

A3 B) 4

B) 4 C)5

)5 &)

D)6



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

www.prepp.in 'repp

Your Personal Exams Guide

sC
el
22) The range of an ammeter is 0-50mA wih a0 22) 0o F TR T S e e,
Miemal resistance of 40 v Whatisthe value of O-S0MA B IETEIE T T IE S g
T shunt resistance that should be added to the FTET FTET T, ﬁﬁ*hhﬁ?i:-—-ﬁ :
Smmeter. 1 order to extend the range 1o (-150mA?  FTTIT IT T2 N
A) 10 ohm A) 10 ohm
8) 20 chm B) 20 ohm
C) 30 ohm C) 30 ohm
D) 40 ot D) 40 chm

23) The figure gven below is 2 circutt diagram of 23) 1% frar o ey i o = i
which transistor? = .

A) IGBT

A) IGBT B) PMOSFET

B) PMOSFET C) Trf=r

C) Thyristor D)B.JT‘ .

D)BJT
24) A DC motor runs at 200 rpm speed. If the power ZA;Wmﬁﬁzmmﬁﬁqﬂ,ﬁg,;
memﬁ?w-mﬁﬁe TR P 400 w2, Frefirr e T T
T b

orque developed? : »"/':Lj-. A) 25.5 Nm
A) 25.5 Nm -4
- 5 A B) 122 Nm

B) 12. ¢

) T‘/ C) 33.33 Nm
C) 33.33 Nm D) 18.1 Nm
D) 19.1 Nm

| - -—
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25) In which of the following cases, MOSFET |5 25) Frsfafirr it & fior worr i, MOSFET mrome 87

helpful?

1y Switch for LED

)] Swilch with hysteresis
1) Switching Solenoid

A) Switch for LED

I] LED ¥ ff"l?[ n f‘qn

Iy Bredtratr v ferer 4 F

Yy sirerertee feafan & fan

A)Lan
Byinaim

B) Swilch with hysteresis

C) Switching Solenoid
D)L &IV

CylL&im
DyLn&m

26) What is the average value of a whole sinusoidal

waveform over one complete cycle? T T R
A) 0 A) 0
B) 2 B) 2
C) 4 c)4
D)6 D)6

2E]q¢'ﬁwﬁﬂmmthﬁﬁ}waﬂm

27) There are two lamps

power drawn by them if the

V outlet?

A) 1400 W
B) 1040 W
C) 2080 W
D) 2800 W

K I
with resistances 120 ohms 27) 120 ohm 37 60 ohm ¥ wfaTr aﬁ 'ﬂ':i A ﬁ:ﬂiﬁ
and 60 ohms each. What will be the value of the T 240 Arer ¥ WITAL

o [yAe 1400 W
»"’x‘;’[/l A

A T
.

: 0
¥ qa ¥ C) 2080 W
N

D) 2800 W
w 1]

"

y are connected 10 a 240 & offFF (TTAT) T WA T E?
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35) What is the range of length for a medium 35) ™% W=7 s (fifR grfiem) e T B

transmission line?
A) 10km to 30km
B) 30km to 60km
C) 60km 1o 150km
D) 150km to 200km

e 1 oy 7w 27
A) 10km to 30km
B) 30km to 60km
C) 60km to 150km
D) 150km to 200km

36) Total current or charge entering a junction is
exactly equal to the charge leaving the node which
means all the currents entering and leaving the
junction should be equal to zero. Which circuit law is
mentioned in this context?

A) Ampere's circuital law
B) Conservation of Energy
C) Conservation of Charge
D) Biot Savart Law

—

36) TTF FFAF H TAN FIA ATAT T F9F T A7H, Az E
e arT et ¥ AT gar 2, e o £ e
# g3 g 3T A AT it v i F T o
rfem = 7= 7 & ofima 7 fag (@ff=z =
A) w7 9firg gy

B) AT FT HET

C) Jraif (A7) FT HTE0T

D) ararz #raZ #1 fam

37) Consider a 6 pole DC generator having 3000
conductors and is rolaling at a speed of 500 rpm. The
flux per pole is 20 mWb. What will be the induced

voltage, If the winding type is wave connected?

A) 50V Ln ¢

B) 100 V %

C) 150 V M'}
..'3‘)25“ Vf o % &T° ) |
TS s
SES i

“ G
79

A

37) 3000 F=%=% AT 6 W DC FA 7= A1 500 rpm 71
wi 7 g 771 .97 f= 0 9fF 9 e 20 mWb
21 T v W AT {2 g &, A1 A ()
ATeLT AT F4

A) 50V

B) 100V

C)150Vv

D) 250 V
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38) Identify the conductor thal is used to electroplat
tlectroplate

printed circuits and communications equipment.
A) Copper

g) Aluminium

C) Silver

D) Rhodium

m———

A8) oy Ao ) s r P g PEER I RERD
vt b apsre et pra q fan fem e 3
Ay e

By wephie

C) free

D) ey

39) Which of the following oplions is correct
regarding the advantages offered by hlgh-;mmr]ﬁ
direct current (HVDC)?

A) Cosl of dc circuit is low
B) Changing \he voltage level is easier
C) System control stability is high

D) Reduced line cost

39) prérern wrrrez 79 (HVDC) 3777 wyrat T A
frsefiaferr o oy a fae a@ 22
A) DC wf¥ f1 A o R

B) AT AT AT AT 5

C) fry famram frqeit (rﬁf:f-q'}” EE | &

—

40) Identify the device that can be used (0 regulate

voltage in an eleclrical system.
A) MOSFET

B) Snubber Circuil

C) JFET

D) Zener Diode

41) it Pt 1 Frer

41) Fill in the blank with the correct option:

are used to selecl @

of reference |evels.

which lies below of above
A) Zener Diode

B) Clippers

C) Inverters

D) Choppers

portion of the input wave

D) T3 AT AT
Amﬂaﬂﬂmmﬁﬁrmmﬁmwﬁﬁ
mﬂﬁﬁwﬁﬁfmmwﬁvﬁmmmﬁ
A) MOSFET
B) w7 AfiE
C) JFET
D) T AT
e 1 g FfA
ﬂmmmkﬁﬁvﬁnmwﬁi

ﬁqﬁmmh’rﬁﬁ#ﬁw%:ﬁimwmal



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

www.prepp.in 'repp

Your Personal Exams Guide

16 C \\

42) In an RLC alternating current circuit, calculate the 42) 7 RLC qeyTadt o 9Ty %, #ﬁ*ﬁn e
impedence afler considering the paramelers given o7 f=TT 371 ¥ a3 g 7 T 5

below: gfe<re = 4 ohm
Resistance = 4 ohm ez @Fea = 10 ohm
Inductance reactance = 10 ohm ey Tewew = 7 ohm
Capacitance reactance = 7 ochm

A) 4 ohm
A) 4 ochm ?’1 \ f’JL B) 21 ohm
B) 21 ohm le¥ 9 C) 5 ohm
) Sotm ,D) 12 ohm
D) 12 ohm

43) Identify the case that could potentially cause 43) 3% fafd 1 we=m o it sl =7 7 ziwfam

uncertainty in transmission system planning. e = & srfRfEmeT 1 71w a9 awar 2
A) Unknown generators dispatch A) FaTa AT R
B) Loss of a single generator B) T® ST FT AT
C) Capacitor Bank malfunctioning C) #wfe (wifree) &= & =t
D) Loss of an HYDC pole D) TF HVDC 91+ T T
44) Fill in the blanks with the correct option: 44) 7t fasey & ey =g it qfF Fifem
Digital phase angle meters have replaced analog- Rfid== &w e dtzw, AT #5 q=q ___ ¥
type primarily due loits____ . T T2 R
A) Cost effectiveness A) fFErdt (Wt THFZFA)
B) Higher accuracy B) 37 a#ftwar (BT wgﬁ)
C) Compactness C) AT (Fterazam)
D) Efficiency D) Zea (wffirdafi)
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45) Match fommn A with Column B. 45) T A %1 wte B ¥ ama frer 77
n C

Colum olumn B = -
1. Frequency a) Second 3 prem S HIaH

_Time period b) An ST . HP3
g C's'depe cl Heu:re 2.7 3@ (TTEH UIRTS)b. TR

. nZ
4. Alternating current d) Radian 3.49% {EI%EiEI] c. 3261
—_— 4. JdTac| YRl d.XSuA
A) 1-a, 2-b, 3-c. 4-d
B) 1-c, 2-a, 3-d. 4-b A) 1-a, 2-b, 3-c, 4-d '
C) 1-a, 2-d, 3-¢, 4-b B) 1-c, 2-a, 3-d, 4-b
D) 1-c. 2-a, 3-b, 4-d C) 1-a, 2-d, 3¢, 4-b l

D) 1-c, 2-a, 3-b, 4-d

46) Fill in the blank(s) with correct option: 46) fr=r wama Fi wé A A ofd =t

The control system of a Brown-boveri voltage ATt e T A e s w
regulator is based on the principle of Frgia T s B

A) Induction motors A) $TFIA K2

B) Synchronous motors B) fitwm iz

C) Transformers C) grewmid

D) Rectifiers D) *fzTa

if the 47]Wmﬁmﬁwﬁmmaﬁ

47) Calculate the depreciation  factor ‘
00 £y Fgfit # Treret 400 lux & 3l FrE T 1=, T 600 lux

llumination under normal working condition is 4

lux and after cleaning, it is 600 lux. X @

A) 0.667 6 )ﬂ fge

B) 0.33 B2

)15 912

D)1.2 R
.

e
Pana g asaaa
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48) Fill in the blank(s) with correct option:
Projection welding is a type of

A) Resistance
B) Spot

C) Seam

D) Arc

welding.

e

48) Frer w4 T FET fAweT & 97
e AT AT T o

A) ThreE"
B) wfz
C) #Hrx
D) ar:

N N N o T ——
49) Identify the electronic component from the image 49) %= €1 ¥ Bfa & TARIAT A ff 7 Ll

given below:

®

A) Varactor diode
B) Schotiky diode
C) Tunnel diode
D) Photodiode

®

A) FTER TEE
B) ezt =1aTE
C) A« =T4re
D) wrersTaTe

50) What is the ratio of maximum value to the RM.S 50) = sreara HTAT

value of an altemating quantity known as?
A) Form Factor

B) RMS Value
C) Peak Factor
D) Average Value

(It wifed) & afima o
mR.M.Smwaﬁwmmmm%?
A) T et

B) RMS =77
C) fir &ex
D) sh=e w1y

stator fields, have on the torque of the machine?
A) Torque will increase

B) There will be no torque
C) Torque will decrease

D) There will be no change in torque

Page 64 of 144

C) 2 %1 &t sy
D) 2H: % ¢ arzemar o gy
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I‘ -
N L b
\ S,
By increase in current and fall in voltage and T i 4fz #r A s & N
frequency . M S5 ‘
L]

) j

i i s v e oY T A

By decrease in current and rise in voltage and

frequency

C)
C)
st 4T st wez she ofpelt i e &
By increase in voltage and fall in current and
frequency
() g
D)
L 1)
Ko ah
’ : i : dr vz frmz &
o T e r F{Z z
7 mﬁﬂqﬁmﬁ
" . voltage and
By increase in frequency and fall in voltag
current

pmﬁr- R
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53) In atransformer, insulation breakdown took place
due to which over-healing is occurring again and
again. Whal is the name of the fault due to which the

transformer is experiencing over-heating again and
again?

A) Earth Faults
B) Core Faults
C) Inter tumn faults
D) Tank Faults

—

sa)wwiﬁgﬁnmma’rmgmm
?F'ﬁﬁﬂ?ﬁﬁﬂ“fforaliﬂ'¢$??TT?u7qn;aﬁm%
FTOO1 ZIAFRIAT AT7-a17 AG7HIE T 727 &2

A) 3wz

B) F17 Wiz

C) 27 = wiezw

D) 2% wiwze

54) A circuit has a branch with 5 capacitors
connected in parallel. The capacitance of those
capacitors is 1 yF, 2 pF, 3 pF, 4 yF, 5 pF
respectively. Calculate the equivalent capacitance
of the entire branch.

A) 12 yF
B) 10pF
C) 120 yF
D) 15 pF

54) o a1 F v arva # 5 AfAET ww
B 81 37wt 1 arfra w4 WF, 2 uF, 3 F, 4

HF, 5 WF &1 3ot strat &\ nfran(amfinem) §
TOAT Foi A

A) 12 yF
B) 10pF
C) 120 uF
D) 15 uF

55) The ratio of the average load over a given period 55) s ffira srafiy # sty wre (wairer wirz) 77 340
to the maximum demand occurring in that period is w T & 1 arelt sfiream i (4w fwre) F

commonly termed as:

FT AR FT F7T A7 2

A) Power factor A) TraT T

B) Voltage Regulation B) dT== e

C) Diversity factor C) zrzafidt et

D) Load factor D) &t =%
. e
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56) Determine the poye, delivering

current through the same ¢

d . des greater power :[at?d TWE U § g T ‘W;Twﬁm;“wh
and makes {ts balance loag easier. N ARUAAE L. RS QLEE I o T *rm ?ﬁ:;ﬁ
A) Single phase power B () 91 B, TR
B) Three phase power A) 51 g e
C) Active power B) #ft ot e
D) Reactive power C) itz e

D) frof¥es arae

57) The illuminance of an object is 64 M |m Th
e

£ 57) Fiat ey 7y 705 A
object Is 4 m away from the light source. Fing oy ) T =y 1t (v 64 N im HES VLT

rw“;

illumination. LLE L m??muﬁftﬁ{’:ﬁﬁﬁm] A T4
A) 4|
A) 4 lux ) 4 oy
B) 16 lux
B) 16 lux
C) 32 lux
C) 32 lux
D) 2 lux
D) 2 lux

58) Which of the following correctly depicts the unit of 58) fAsfAfir i & ¥ T w1z (Fafaes =) &

luminous flux? s (qfe) T A A aaia 2
A) Candela A) FeEA

B) Lumens B) =E=

C) Lux C) 7

D) Candle Power D) % I

59) When a generator supplies a lagging load it
means that the magnelic energy is supplied to the

load and the net reactive power gets reduced in the

5g]ﬁnfﬁﬁmnfnaﬁvﬁﬁﬂwﬁmgﬁr
w3y AT AT FAATE 5 1 Wit St Faf o T
ﬁﬁzﬁnﬁﬁw:ﬁmﬂmm:ﬂﬁcﬁﬁmﬁt

generator. In this case, what effect will armalure Wﬂ:—'n :?:‘ﬁm

reaction have? :’; E i 90 w;Tﬁ"a! —

A) Armature current will be zero , e dere)

B) Armature current will 129 by 90 o) frree SirTeRT)

C) Magnetization

D) Demagnetization -
_//-—
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60) Which of the following options denote the section 60) Fffe 31 7 ﬁ: ™
of the Indian Electricity Act under which |.E Rules, 3 ¥4 71 Rerfan & e 7 |.E Fra, 1956 3oy,

1956 were made?
A) Seclion 30
B) Section 35
C) Section 37
D) Section 45

T 917

A) ##m7 30
B) %41 35
C) fverT 37
D) rere 45

————

61) How many units of lux would make a single unit 61) 7% 1 fieeft Fmeat oz et ff v 7ar ey

of fool candle?

A) 2.65

A) 2.65 B) 15.43

B) 15.43 C) 9.53

C)9.53 D) 10.76

D) 10.76
62) A three-phase transformer consists of 62)ZFFri T AT AT AT S A

transformers either combined or separated on one ¥ Tza s ¥ F5Th 71 ey w A BT i R AT
core. The primaries and the secondaries can be T 77T 21 77 7t 3% -5t ZieniT T

connected in star or delta independently, Which of fem & i - sy (F==ret) 771 F faro awar
these is a part of the three-phase fransformer Fmr T #2

conneclions and Is used to perform a three-phase A) =17 aTEHd - T 5 A

conversion?

A) Star primary - Delta secondary
B) Scott Three Phase

C) Delta primary - Star secondary
D) Open Delta

B) =iz oft ¥
C) T=1 wrewdt - = et
D) 39 ey
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g3) Fill in the blank with an appropriate choics from  63) #r fao an frsen & 57370 Fayer i Frew vl 41
the options given below: of% 1fem -

m&mﬁmaﬁiﬁrzﬁ
T TATT TF FTAA T 21T 2

lranstormers do not have a primary
winding but instead have an open core.

A) Wound Type A) ITTT T

g) Bar Type B) T 7o -
C) Window Type c) frzr Ty P
D) Coil Type 0) wte Zre L

64) Which of the following options denole the reason

64) Frarfafim # & w= =1 Bre=y T ¥ TS § AT
for over heating in case of a generator?

Fifsn § wrew T i 7
A) Overloading of the generalor

A) FATZT T FETAET
B) Increased apparent power in the generator B) F=vzv & wit g¥ wyiz AT
C) Decreased current in the generator C) warzr & v 3% g um

D) Failure of insulation D) T=gwr 1 faer
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65) When a 1-phase transformer is connected in
parallel, there are four conditions for proper parallel
operation, but when two or 3-phase lransformer
paralleling is done, there are two additional paints
along with those four conditions applied for 1-phase.
Statement 1 - The phase sequence must be the
same

Statement 2 - The phase shift between primary and
secondary voltages must be the same for all
transformers connected in parallel.

From the above two statementl(s), which is/are the
correct conditions in this regard?

A) Slatement 1 is true, Statement 2 is false
B) Statement 1 is false, Staterent 2is true
C) Statement 1 is true, Statement 2 is true

D) Statement 1 is false, Statement 2 is false

—

65) T I 1-5 FIARIHT WA & ofay gy
T AT g (AT e ) ¥ i o,
oA 7reft 8, ﬁﬁ?ﬂZﬂTa-hm%&?
AR, AT 15 F 0 AL 3 7 a1t oy g
7z 2 ra 21

T - T AW (FA HE) T F ifn
mz-mﬁvﬁﬁwmtﬁqm#
A drest 7 1 i e s v e
ITNT &1 FGAT F F T AT AT o0k 42

A) T9T 1 AT B, 797 2 A &)
B) 97 1 7174 &, Fa 2 7w &)
C)FT189a e, Fa7 27w &
D) 99 1 397 &, 07 2 Irwreg 4

66) Match the following Lighting Schemes with its
respective functionalities:

Es)ﬁmﬁﬁammﬁ(mnﬁﬁ)ﬁﬁﬁ?
w141 F = e w4

lighting cheme Functonaiie YRR U 2 ) TP, (e |
|.Direct lihting ] 60-90% light flux upwards LG e 2. 60 90K Y g (T v 21 %
. Semi directlighting b) 90% light flux upwards WIRSTRE T b on VORI g (5 o SR
1. IndirectFghting o) 0% light fux downwards TR, | oo o el (3¢ Wi S
W, Seni ndvectlghting__| &) 6090%ight s dowrwards | [ o600 T TG (GG W) A o |

A) Ic, lI-b, Ili-d, IV-a
B) I-¢, li-d, lll-b, IV-a
C) I-a, lid, NI-b, Iv-¢
D) I-¢, lI-b, lll-a, IV-d

A) I-¢, lI-b, llid, IV-a
8) I-c, lId, llI-b, IV-a
C) I-a, ll-d, Hi-b, IV-¢
D) I-c, II-b, -3, IV-d
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g7) Which of the following cannot be used lo reduce 67) #va (sinf) o7 FEIFAT w1 ww s A

harmonics at (ns source? Frseferfiye it # Frerer vt Fa st T 27
A) AC Harmonic filters A) AC EriitfirT e
) DC Harmonic filters B) DC Frviifirs st
¢) Smoothing rectors C) wagfifr Tt
D) Electromagnetic couplers D) ATt T
mm the blank with the correct option: 68) Tt For=r 1 fiw =T £ qfi T ;
can be measured in either the frequency _ &1 @ AT dTai 1o o1 213w T W AT AT
domain or time domain. T 2
A) Frequency offset A) Frf=ft stz
B) Nominal frequency B) mitrfa saf(ifim F)
C) Accuracy C) a&AT ()
D) Stability D) frarar (=fa=)

69) A type of circuit breaker which can work uplo 69) TF THIT F7 ALEZ FFE AT 15 KV TT ITH FT FHFAT 3
15 kV and the rupluring capacity of that circuit sy =7 iz e f gza (reati) F s

breaker is 2500 MVA. Determine the type of circuit 2500 MVA &1 77T g ¥ st s 2o T e
breaker mentioned in the context and shown in the i Frem o wifdz FT I WHIT A w4

given figure.

A) Ol circuit breaker

B) Air blast circuit breaker

C) Sulphur hexa fluoride circuit breaker

D) Vacuum circuit breaker

.-E""-——__
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Trrft (T=faeer) T (g
70) Calculate the average intensity of illumination on ?F}] W-:f:" AR, 1 30" 5 1 »
the surface, which is inclined at an angle of 30°. Itis T*farf) 1 vy Frf5 _ Ftic = !
kept at a distance of 8 m from a 1000 candela power =

16 C

T s,

lamp, A) 250 lux

A) 250 lux B) 75 lux

B) 75 lux C) 125 lux

C) 125 lux D) 55 lux

D) 55 lux

—_—

71) Which of the following losses occur due to the 71) OC wef7 & 7v= TR ¥ FTem ET'EFTFFF[ &
induction of current in a pc Machine? v+t mfa ot 8o

A) Copper Loss A) 7 Y mify

B) Iron Loss B) =& fr zif

C) Mechanical Loss C) @it z1fy

D) Windage Loss D) e ify

72) Which of the following statement(s) is/arg |_r; 72) 3z ¥feay T F Frfrfn EE I -
regarding butt welding? Ty ? r%.?

1. Flash butt welding i§ a combination of resistance, 1, wyr 7= AT afyony G5 =2 p— (37%) st 727
e PRI el

‘ or welding rods 2, T 1 ey v .
rZ:;al;-:;a'::';.u.n!53:=.in:m Welding is a self timing spot welding # W“ﬁhwaﬁﬂ?ﬁiﬁﬁﬂ ERIEIE)
4. Aluminium alloys are flash weldeq :’ qTi"’T a'ﬁ'“‘;z? T, Trefiny iz IfEr fafy &
R ! U W e e far sy 2

A)1.2,and 3

B) Only 2 and 3 V1233
C)2,3,and 4 %) ¥ 2 30 3
D) Only 1ang 4 €23 374



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

www.prepp.in rrepp

—
R Uttar T a— XYoL P ver-Excermy Guide
u-'i:Y‘?*'u Pradesh Subordinate Services Selection commission, Lucknow

ey~

IR weW il /a7 9UA HQ, TEAS

15C——

73) Identify the incorrect slatement regarding Zener 73) 3w+ =193 F 599 & 7977 9= ¥1 7291 Fy
giodes-
A) Zener diodes rated 5V have the best stability

A'} SvLT? ECD -.’ﬂ:-'-', " 599 _:-"E-:. A= (..',,,"-‘.1:-4;[ )
FTAT 21

) The voltage tolerance fs around 5% B) e i (i) T 5% AT 81

c) Breakdown voltage ranges from 2 V-200 V C)Fvrrz ar=a fT TR 2V-200 V —i =
p) Zener is used as series voltage regulator for D) 377 ¥7 T7ET 9T e T AT e e
small loads NPy e
74) Fill in the blank with the correct option: 74) 57 sy 3 e wam 1 37 AT
is influenced by supply frequency, size of T3 STty FTEA ¥ A T vrEa ¥

conductors and distance between the conductors. 1= #1 A & waa frA f

A) Skin Effect A) T

B) Proximity Effect B) Wi 794
C) Internal Inductance C) T=7A= TT¥A
D) External Inductance D) TEEAT TR

75) Which of the following is a non consumable TS)ﬁﬂWﬁW“ﬁﬁﬂWﬂTﬂ?m-rqu- T

electrode among the given options? &7
A) Tungsten A) TT=A
B) Titanium B) =rTsATH
C) Silica c) &fE
D) $Frem AL

D) Calcium carbonate

S Ty :
76) Consider two wires of same length and made of 76) T it sk A erd F ¥ Frawd =@ A

same material. The radius of the first wire is twice as 2y A 7 B e AT AR AgAL T

that of the second wire. Find the ratio of s v TFT 91 ¥ T F
resistances. A) 14 -
A) 1:4 B) 4:1 —
B) 4:1 c)2:1
C)2:1 D) 1:2
D) 1:2

e

Page T3 o1 144
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77) Consider the following statements and chose the 77) Frafrfr

carrect option:

Statement | - Arc welding works on both AC and DC
Supply.

Statement Il : Filler metal is not required in case of
resistance weilding.

A) Statement | is true, Statement Il is true

B) Statement 1 is false, Statement Il is true
C) Statement | is true, Statement Il is false
D) Statement | is false, Statement Il is false

vt 77 fraT vt M i <

L 4
v | ¥ 1w AC #7 DC w7 it oy ey
|
v || Haers afFen # fo umy © srvemen o5
ti

 pa

A}m|m?+mllﬂﬂ:‘?|
B)mam?.mnm?-
C) ¥t | a7 B, v || w2

D) ¥ | 77 2, o || T &y

78) f a load in a generator decreases, what will
happen 1o the magnetic field and generator speed?

A) Magnetic field increases, speed decreases
B) Magnetic field decreases, spead decreases
C) Magnetic field decreases, speed increases
D) Magnetic field increases, speed increases

?B}wﬁﬁrﬁmﬁﬁmﬁﬁmﬁ_if?ﬁh
o7 vz §1 0f% w7 vy A

A) T iy T 8 ofr e 4
B}ﬂ?ﬁnérwmw?..rrﬁrﬂ?-ﬁh
C) 37 drx oo &, v a4
Djitﬁvé‘nﬂm?,ﬂﬁnfrh

79) The armature core of the DC machine houses tha

conductor in the slot and Provides an easy path for

magnetic flux. A specific materia| g used for the

construction of the armature cora sg that hysteresis

loss can be minimized, What is that material?
A) Aluminium

B) Copper
C) Silicon Stee|
D) Stainless Stee|

?lemﬂmﬁmﬁ.m?ﬁmhfm?
WWM(WF’?FW}Q-%WW?*
TR B ST e 3 frator  fore e RS

ﬁm&mm??ﬁﬁ% At fr e
TAE, 7 TEnd wy 2

A) Tt
B) aray

C) Frferetr iy
D) iy sy
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g0) Which ane of the lollowing ig lrue
1 ir

a balane
3-phase star-connectoed joaq? AlANCed B0) mrfiyy 3T Trr iy sy i fa Frafafia i 1
A) Line valtage = Phase Voliage VT o1 0ty 4 ' L
B) Line voltage = V3 x Phage Vollage A) AT i o A Ay
€) Line voltage = 1/(/3 x Phagy Voltage) il Rk T = 43 % 7 s
D) Line voltage = V2 Phase Valtage D: ATt Ty = (3 x ¥ Frezar)
ATA Ay = V2 T ey

— —_—
its tensile strength by 50%7 S T T AR & FAmt o rfy e afr
A) Boron A’-}‘“f‘? ¥5) A1 50% 727 27 49
B) Cadmium

B) ¥=fivy
C) Silicon C) Fafretr
D) Rhodium D) #f

82) The same fux passes through all the parts of

82) “ﬂfiﬂfﬁﬂ,ﬂﬁzﬁ:#ﬁﬁwﬁﬁﬁmm?
crcuits whose total reluctance is the sum of the

Frm g v, nffz & iofew 7 o Bewr 1
THEL 1A $1700a £, MMF, Fioft Faefire s fm
Also, the MMF is equal lo the sum of all the MMFs  TasT it MMFs % 317 avrae &1 for s afmy
required for the Individual part. Which magnelic & 3 #ft o 217 27

reluclance of the series-cannected part of the circuil.

circuit have all these properties? A) TRTATAT qFT T

A) Parallel magnetic circuit B) #efam sjadiy nfrmay

B) Series magnetic circuil C) Ffre - Frwreria? a3y afory
C) Series- Parallel magnetic circuit D) freger wrew

D) Electric motor

——

. " i
83) Which magnetic material obeys Curie's law I"'
Which the magnetic moment is localized at the atomic

a31wﬂ#m§1ﬁvqﬂ#.ﬂﬂtﬁwnwmﬁa
ﬁﬁgﬂﬁﬂqﬁzmmmﬁmwm

- E . - ﬂ v ~y

R (E2ree) 7E BT &7
"eighboring magnetic moments? p) SR (zrarinfe ) wand
A) Diamagnetic Materials B) s (i) wnd
B) Paramagnetic Materials C) Wﬁﬁiqﬁw”’ﬁ
O Feromagnetic Materials D) - et

0) Antiferromagnetic Materials

Ay L
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B4) Which of the following characteristics should be B84) frufafa

possessed by a properly made weld?

1.The weld should not crack in the bend test

2 There should be no scum imbedded In the weld
3 Appearance should be spongy

4 Electrode distance varation should be minimal

it i e oft Frare fre e e
wifgr?

1 itr rex it ee w1 v il v fe

2 ey it wrt Aaserfor it g wfin

4 freprar wroft @vefr sofe

a.xivee gt Rvee (e afrern spes ek e

A) 1,2 and 4 A)1,2 %74

B) Only 2 and 4 B) ¥ 2 sh7 4

C)2.3.and 4 C)2. 3,574

D) Only 1 and 2 D) e 1 shr 2

85) In which of the following cases, we can use B85)Frwfafirm & & fm Paf & g 1= P v fm
excitation control method for voltage control? TRTHTTAVE FUTH 0T F7 JTATT F7 794 £7

A) Short lines A) a1 AT

B) Medium lines B) fiftas sree

C) Long lines C) At =TTy

D) Any line irrespective of length D) Arart & wrery 7€ oft e

86) The main and auxiliary winding is in a circuit at
the time of starting and to disconnect the auxiliary
winding a centrifugal switch is provided when that
specific motor attains a synchronous speed of 70 to
80%. Determine the motor mentioned in the above
context.

A) Three phase induction motor
B) Single-phase induction motor
C) DC Shunt motor
D) DC Series motor

86) =T T vy wfz 7 sy s gy Al
2 # i arr o fafore drer 70 # 80% i gereAT
(Fetarrn) o it o Ay  wrgra avgfEn @ e
w7t 3 P oo e fersr gy vy sy & 1 3T
w2 7 afEAfaa a7 g

A) AT o TTHT WYz

B) fra-trar Sever v

C) DC iz Hrzr

D) DC #rfr= wirex
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g7) Fill in the blanks with an appropriate choice from 87) i frr o i & i1 3 Fre 37 Frev wqveit 7
the options given below: o i Ll

peak switching relays lumns __ when control v ferfam frop T AT AT A A 51
wiitage is applied and when control vollage 77T & ¥ 3 At 7z i A1 AT A

is removed.

A) ON, OFF A) 7T

B) OFF, ON B) #= a1

c) ON, remains ON C) 7T, T

D) OFF. remains OFF D) 4z, 3%

88) Which of the following is not a braking method of B88) Frefafir i & ¥ de wrzw F1 afim fafor 7 27

adc motor? A) FravrefrT affm

A) Regenerative braking g) fraet 37z afFw

B) Reverse current braking C) AC =Tt A
C) AC dynamic braking p) fram2fes af

D) Rheostatic braking

At g AT @ =T TTaTeE ¥z /1 41
B9) Which of the following options denote the B9)

wrgf 71 2T 27
frequency of a direct current source? |
A) 360 Hz A) 360 Hz
180 Hz
B) 180 Hz B)
z
z
— afmE i
— __———-"’"“"_F’— gmq-rﬁﬁ-rm#ﬁ'ﬂ'mﬁ’iﬁ S B
%0) Fillin the blank with the correc! option: al R emi AT for a7y ¥ YT
i material ——— .
The — __isthecurve characteristic of 3 £ 7 i (V3 Frefife) &
O element or alloy’s magnetic properties ) ey 7 A
A Eddy current loss g BH T
B) B4
WiNe Freafreft
C) 1e*=
C) Hysteresis - T

._ e
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91) A 200 MVA and 1000 MVA synchronous machine 91) TTF 200 MVA 3T 1mﬂ_MV;m : fmm;
has H1 =2 MJ/MVA and H2 = 4 MJ/MVA respeclively H1 =2 MIMVA she l_fz i S ?ﬁ WH-H?
which are operaling in parallel. Calculate the FTH 7 T 1 10 MVA EULIL l“l*mmtﬁq
equivalent H constant for both relative to a 10 MVA #rar H fraers (7=22) Fit o fifor

base, A) 44 MJ/IMVA

A) 44 MJIMVA B) 440 MJ/MVA

B) 440 MUMVA C) 444 MJIMVA

C) 444 MU/MVA D) 4400 MJ/MVA

D) 4400 MJ/MVA

92) An altemating current has an inslanlaneous 92) T ST AT F T AT (S=2=77) 577 0.0008

value of 20A after 0.0008 seconds passing the zero 4 ¥ 312 77 71 37 120 Hz iy

and a frequency of 120 Hz. Calculate the maximum Rl 3 TTEAT o F sfreaw
value of this alternating current. Assume, the time |s EilE

counting from zero and it starts moving towards the

I AT 204
q1 AT T 7 ur
.mwﬁwﬁmt_aﬂvqﬂﬁ:ﬁamﬁﬁ

AT FEAT 4% T B
positive side. A) 3333 A
A) 3333 A B) 25.40 A
B) 25.40 A C) 35.26 A
C)35.26 A D) 27.72 A
D) 27.72 A

demand of the whole System is commonly termed as: T FT AT F27 577 2
A) Diversity factor A) =Teafid e
B) Load factor

C) Power factor C) w37 &
D) Vollage Regqulation
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what lype of generators is used in

od)
figh
A geparalely exciled type DC generator

power and 04) =g

ing purpose wilth the help of field ragulatars? AT 1 v i e oo ECrecn

?Wnﬁﬂfﬁwmwftmmﬁﬁﬂnm%?
ﬁ)mﬁﬁmﬁ?mncm

g) Serios DC generator

B) #ftfrr DC e
0) Compound DC generatar
C) ¥z DC w927
lor ‘
p) 0C Mo D) DC v :
JE——

05) Electric Welding is a process of healing and 95) TafizT #f= afraTR -
wolding two melal pieces logether using a powerful %:T%TE:WW ‘Tﬁﬁ:jf:-ﬂ '-’WE
eleciric currenl. While performing this, a few ¥ ufiar#) z:rﬁm'fgqﬁgﬁm . 31;1:1;“1
precautions should be taken. Identify the same from frt 41 arf apsft 1 7 zorfi e % B
A wfafem 57 e e g TR

B. TATATETE THAFSIE F1-201 31 T # 7 {4

B, Do not dip energized electrode holders in water.  C. FfEm T T afe v § Anr foE f

C. Avoid direct contact with the live parts of welding D. Tt afedm w0 Ry afie e grdi 9 e T

(he list given below:
A Make sure that the rod holder Is insulated.

equipment. AT AFAT B
D. The body and hands should be kept wel while
slectric welding. A)A, B3#TD
BB#*C
A)A,Band D C)A, B#TC
B)Band C D)A B,C#7D
C)A,BandC
D)A,B,Cand D
) Which of the following types of transformef odhiiy W‘* m i Eﬂ:;;q "
used lo separate equipment from the source of T ¥ i I
A) Current transformers B) A7 F““"‘ﬁ
B) Voltage transformers Qs W
D) AEATA giATHT

C) Power transformers

0) Isolation transformers
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97) Below stated is the procedure of mesh analysis, 97) ATt fafm st =, 77 1 '“ﬁf“ A1t £
but in mixed steps. Select the appropriate slep &, T =177 FF=AT SATEAT T

number sequence: A AT I A TP A AT 9 Ry g
A. Write Kirchholf's Voltage Law equations around #ATY aeftarn i) o

each mesh, B. i it e a0, (¥ F " A=)

B. Identify the meshes, (the open windows of the C.TH LG Fam Fﬂ“”q'i T ATATAA) F1 T4 577,

circuit). oers i o v FrEp e 99 (7 AT i
C. Assign a current variable lo each mesh, using a 7|

consistent direction (clockwise or counterclockwise). D. s 3 F fm# 1 T A 9 T A Ay
D. Solve for other element currents and voltages you ¥ T &4 371

want using Ohm's Law. E. wft T wreTs (F0 F92) T "Hr f7 wfemd
E. Solve the resulling syslem of equations for all =T (t=if=4m forem) w1 79 741

mesh currents.

A)A.B,C,D,E
A)A,B,C,D,E B)A,B,C.E,D
B) A, B,C,E,D _LIB.C,A,D,E
C)B,C,AD,E D)B,C.A.E.D

D)B,C, A E.D

98) What is the main purpose of using the light 98) T¥rz a7 =Tz Faféa wra F1 374 T3 T =

coaling layer on the electrode? I29T T §7?

A) Keeping the arc space ionised A) 3§ PR FT FAHTEST T4 F o

B) To increase arc stability B) sF =fafsdt wgma & Fm

C) To protect metal from oxidizing action C) are #1 sifFfraor famr & == &

D) Faster melting operation D) it ey s (s wfeET sivr)

Page 80 of 144 __.—-"/
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gor a DC series motar running at a speed 99) 750 rpm it wfir &1 =

arrﬁnc:wfrﬁ?ﬁsz.

) Cons! \is observed that the back EMF is 400 Rrare ¥, g sy ma # i 4% EMF 400V bt
of 750 rpm. | be the back EMF value if the machine #7500 rpm #7 {7 3¢ wrrfor Fay T & AT - Er'_“:
.Malﬁh'“:iad at a speed of 500 rpm? (Assume T Wmima-ﬂ%q? {r{ﬁﬁf i o fat (TE2)
s to b8 opﬂremains constant) T ) p
nat the flux A) 450 V 5}{ La J4
: ) B) 600V _,_?;F
: zzg: C)550V
3 400V D) 400 V
¥ DC $IFg Tz 7217 FAF

100) Which of the following is used lo provide

C field current to the generator rolor?

the 100) F7=T T12< HT : -
ﬁ'ﬂﬁgﬁﬁﬁﬁ#ﬁmmﬁmm

required D! \
A) Rectifier | Tzt
. C) ‘;mt EIHER
¢) Damper Winding »
D) Generator FAEL
AT ‘tﬁizﬁmﬁﬁzaoﬁft%:mﬁ:
101) The secondary side of a iransformer has 200 101) TET;":‘:ﬂ ey 52 A =
tums while the primary has 25 tums. Find the primary Al A | i af A . ’”“"‘f"
- m 1 l 1]1— .
current is 32 A. 1T L

current if the secondary o /E;
A ”
B:S: | B)4A
C)18 C)16 A
D) 12: A D) 128 A
2 n . 402) AT GA AT FrawteT F1 25T (ufrfer)

| full load 102)7
1%2) How much efficiency does 2 typica e
transf Frat
A) Bu::maf s A) 80% # 85%
B) 859 oo B) 85% 90%
O1ss o C) 95% 7 98%
D) S, D) 98% & 120%

%% to 120%
S J=p——

—

ST
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103) In which of the following cases dynamic 103]ﬁﬂﬁﬁﬁﬂﬁftﬁﬂﬁrﬁfﬂf‘f3mﬂiﬁﬁ-ﬁﬁmﬂ

breaking cannal be used? erT ASF AT AT AT 87

A) For large heavy loads A) @2 Wi #re ¥

B) For high voltage applications B) g et st (weter) ¥ fm
C) For high current applications C) 7 ¥z ATFAN (T TE) ¥ ferm
D) For low current applications D) First e srwAT(eefver) F

104) Match Column A with Column B accordingly. ~ 104) wtw A F7 7AW B ¥ wg fmm w

Column A Column B I A HIAd B
Anderson Bridge Resistance 1,033 [ a. FICRIY
Wien Parallel Bridge  |Capacitance 2.[auA Uea s b.;lgff;ﬁ'
Scherng Bdge_____ ey T | 8o
Kelvin Double Bridge |Inductance :

A) 1-a, 2-d, 3-c, 4-b

B) 1-c, 2-a, 3-d, 4-b
C) 1-d, 2¢, 3-b, 4-a
D) 1-c, 2-a, 3-b, 4-d

A) 1-a, 2-d, 3-c, 4-b
B) 1-c, 2-a, 3-d, 4-b
C) 1-d, 2-c, 3-b, 4-a
D) 1-c, 2-a, 3-b, 4-d

105) Calculate the values of i and iz in the given 105) T T aftaa & |, T i F mrAt £ o i

circuit.
A MWA—TWN— e AW AN
. (i) i : (ie#is) i
L D 1D
F E o8 F E
A)25A.25A q_g.:-’h ~“% A)25A,25A
J
B)4A 1A }‘tﬁ" 3 apa,o PARTA
C)2.33A,267A v dox A5 THC)233A,267A
o P I
D)3.93A, 1.07A 97~ %Y D)3.93A 107A
2 '.LJ |
Sy |
5 :
d}'.l 1,.‘*7
(‘Qﬂ - ols"“' s
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R, find the value of 101R.
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A) 4-j40
B) 44j40
C) 4410
D) 4+j10

wm s

107) A 100 V lamp takes a current of 21 A. If the total 107) T 100 V 57 A= 2 A 7} o (F72) FT B1 wE
auxis 3600 M. find the mean spherical candle-power T % 3600 N %, a1 vy 71 F7 TS §2 AT ]

of the lamp.
A) 900
B) 450
C)300
0)750

(MSCP) == F15m)
A) 900
B) 450
C) 300
D) 750
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108) Below stated are some of the stalements about
the Alternating current. You need to identify which of
the following is incorrect,

1. DC power is far more powerful than AC power. The
efficiency and power to size characteristics of DC
molors and apparaluses are increased. Lighling by
DC (LED) is 75%
incandescence.

more efficient than lighting from

2. A Comparalively high voltage alternating current
may be generated and easily raised and dropped by
the static equipment known as the transformer, which
makes electrical energy transmission and distribulion
economical,

3. Initial costs and maintenance of the AC motor are
less expensive since il has no switch and is less
powerful than the DC motor for constant warking

speed, hence it js desired to create
allernating current,

power as

4. The great efficiency of transmission in ac makes
electric power generation cost-effective, produced in

huge quantities in one slation and distributed
throughout a vast area.

A)1,384
B) Only 1
C) Only 2
D)1,2&4

109) You are extending the ra
will  you connect

the primary of the
Iransfurmer?

A) To the voltage coil of wattmeter
B) In series with the ling
C) Parallg| to the line

D) Tothe Current coj) of the wattmeter

'age 81 of 193

nge of a wattmeter. How 1qg

polential

_-‘_-—""‘\

108) et st (werafEn ava) a1 i .
wﬁﬁﬁmzfmwéjﬁﬂﬂnmmmg_m

1. DC a7 AC T 1 Taft 7t sifsvarveft 4 D s
str Tt 1 srew wrvefrieer f‘r’.‘:m{nf—,—ﬁ;-,—,fvl
#r afnrrn) & 3fa 25 4 pe (LED) =7 T
AITRTH (TAXTT=T) T090 61 97 § 75%, e Forg s
2,ﬂ?r=rﬂvr1¢rr:rwhﬁa‘1-—5f:rwra-=ﬁtmmf~
mﬂrﬁﬁmmwmm?mﬁﬁ?ﬁw—
M B #1 ot e 4
S.ACWﬁﬁﬂwﬁrwwqﬁ?
mﬁm?ﬁﬁa?ﬂ*l*ﬁTﬁ?wmmﬁnﬁ~
ﬁﬂncrfmﬁmﬁmsrﬁmmamw
Eﬁm?ﬁmw%:mﬁﬁwﬁm&ﬁ:ﬁvmﬁm;;
4. AC # s=rrmy (ZPTTHem) 7 a=fy AT,

A7 T = i arh

AT 7 T aﬂ?ﬂmﬁmiﬁﬁﬁ?ﬁaﬁmﬁm
A)1,384
B) F=m 1
C) F7= 2
D)1,2&4

]mﬂﬂ?mﬂﬂvﬂiﬁm(fw)mﬁmm
Almrﬁv_-r%tafrn-&:rﬁm?m
B) A% & wmo iy 3
C) A7 F e
D)Wﬁﬁ?mf‘-{ﬁ'ﬁ‘
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A %1 wtam B ¥ #74 faam #7)

113) Match Column A with Column B accordingly 113) %17

Catumn A Cotumn 1)

Wﬂm n) TRchomtes

mum 1) Lusmeter

) Maasurament of powes ©) Mogger

‘ﬂ“w“ﬂ-h _ ) Watt-hour meter

A) 1-a, 2-d, 3¢, 4-b A) 1-a, 2-d, 3¢, 4-b
B) 1-c, 2-a, 3., 4-b B) 1-c, 2-a, 3-d, 4-b
©)1d,2.¢, 3-b, 4-a C) 1-d, 2-c, 3-b, 4-a
D) 1c, 2-a, 3b,4-d : D) 1-c, 2-a, 3-b, 4-d

m—— ) MVA #r 20k V ¥ ¥7 43 T T3
% wrre froege Ft o F1fFT 77 100 MVA 20 @
as 1pu e ﬁtmhwﬂﬁwﬂﬁ’rwh

'y
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119) Find the flux given out by a lamp in the 119) T wrerd (Rfffwae) & ww &7 GreT 3vra vy
ining the source of light and zero T ¥ st srerer wr wrr sl = AFx & 5777 b, e
al, whose luminous intensity is et e &t fraer (fiersr €2fardt) 400Cp b1
A) 800N
8) 800
C) 400 N
D) 400

tated are some of the materials. You 120) A1 # wt g #3fraems fifrwfafars # & vh 41
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nec__

- — determines a parameter within which a cable T ferefiee fwtfea wear & e i oy gy
w1 i =7 & FwanT far s T 2

A) sfiig
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